Treatment of Drift eq. “Full”
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ble coeff = 1./(beta*beta*energy);
cuble eta® = eta_zero*coeff;
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double etal = eta_cne*coeff*coeff;
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ble etal = eta_two*coeff*Ccoeff*coeff;

* By default, n4,7n, are ignored e
if Only aO iS deC|ared’ WhiCh iS for { 1 =@; 1 < n_macroparticles; i++ )

beam_dt[i] += T*(1./(1. - eta@*beam_dE[i]) - 1.);

an approx. Forces the user to c1s¢ 1 (st orcer ==

(1=8; i« n_macroparticles; i++ )

eXpliCitly Set al’ az — O - beam_dt[i] += T*(1./(1. - etad*beam_ dE[i]

- etel*peam_dE[i]®beam_dE[i]) - 1.);

(1=8; i« n_macroparticles; i++ )
beam_dt[i] += T*{1./(1. - eta@*beam_dE[1i]
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- eta2*peam_dE[i]*beam_dE[i]*beam_dE[i]) - 1.);



